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(b) Both vehicles continue towards Mombasa at their original speeds. How long had the
Matatu waited before the bus arrived? (5mks)
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SECTION 1(40 MARKS]
ANSWER ALL QUA TIONS IN THIS SECTION .
1. Find the equation of a line through point (5, -1) and perpendicul

(3mks) | 99 -
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2. Two spheres have surface areas of 36cm” and 49cm?. Ifthe volume of the smaller
sphere i is 20 20.2em’ calculate the volume of the larger Tne (3 mks)
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Find the integral values of x which satisfy the following inequality.
6-3x<2x-4<x+1

3.

s <At (3 marks)
C.ﬂgxz_—»?xaf X <5
—ax s -l

x = - 929

x= 7
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4. Factorize ths quadratic expression below: x>+6x+9
Rtex+s (3¢
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5. The interior angles of angles 50°. Find the v £
glesis 1 n
p ; alue o

(3mks)

- Simplify the following  expressio
n

ax-ay+bx=
—=cby
aty
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ar to line 4x +2y =3 =0.
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7. Calculate the arca of the shaded region given that the radius is 27cm
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8. Simplify R
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9.Using a pair of
compa
Passes and a ruler only construct a triang],
ngle ABC such th
at AB=4¢m

BC = 6cm and angle ABC = 135°,
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(4 mks)

(3 mks)

(3mks)
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da depot had 30 816 sodas which were packed in crates. mmﬂr mm,wm
= Wowwmu,_.:m mass of an empty crate was 2 kg and that of a full crate 1

(2mks)
a) How many crates were there?

202672 - asd Crales

b) What was the total mass of empty crates?

(2mks)

| Qs xa = Q¢ 6RKe-
o
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¢) What was the total mass of sodas alone? (3mks)
la-2a = (e
(o X lagd
[dgf= K.

d) A lorry was hired to transport the crates at a cost of shs 5 per crate of soda per trip

The lorry could only carry 107 crates i
. per trip. How much mon
transporting all the crates? & was spenton

(3mks)
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- A country bus left Nairobj at .
speed of 60km/h. A matatu _n»wm fooh e tavelefl

la x52g

0.45 owards Momb
2 104%m an mbasa at an average
same road at an disance bemesn :
500km average speed of 100km/h. The distance between Ww“w%gwwﬂm_osm o
(@) Determine the ti h .
me of the day when t]
e y n the matatu overtook the bus 5
oy (Smks)
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